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7 100kN/mM#8Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
st 1.00 | 0.00 ~ 759 97.22 | #nLS | 000 ~ 759|213 10.756 Thst 1.00 | 5.00 ~ 1011 97.22 | =hs | .00 ~ 1011|213 10.76
2 100kN/mM%#BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/mM%#8% % — - ~ — — |3ImEBZD - ~ — — —
zhLst 1.00 | 0.00 ~ 7.61 97.44 | =nLs | 000 ~ 761 1.99 10.04 st 1.00 | 6.00 ~ 11.08 97.44 | #FhS | 5,00 ~ 11.08| 1.99 10.04
3 100kN/m%#8z5 | 1.00 | 000 ~ 1.29| 11947 |3mE#Bz5| — ~ — — — | 100kN/mM%#8=2% | 1.00 | 11.95 ~ 1865| 119.47 |3m&E#BZ5 - ~ — — —
st 1.00 | 129 ~ 907 100.00 | =nst | 0.00 ~ 9.07| 2.14 10.79 Thlst 1.00 | 5.00 ~ 11.98 100.00 | =hst | 6.00 ~ 1865| 2.14 10.79
4 100kN/m#E#BZ5 | 1.00 | 000 ~ 254 139.80 |3mZiBAB| — ~ — — — | 100kN/m%#z25 | 1.00 | 10.70 ~ 2388 139.80 |3m%E#z3 - ~ — — —
st 1.00 | 264 ~ 1032 100.00 | =Nl | 0.00 ~ 1032] 2.60 1315 Thst 1.00 | 5.00 ~ 1070 100.00 | =hst | 5.00 ~ 2388| 2.60 13.15
5 100kN/m##8x5 | 1.00 | 0.00 ~ 301 147.86 |3mZz#BAB| — ~ — — — | 100kN/m%i#82% | 1.00 | 1057 ~ 2811 147.86 |3mZE#EZ D - ~ — — —
Lt 1.00 | 801 ~ 1080 100.00 | N4 | 0.00 ~ 1080 2.99 156.12 st 1.00 | 6.00 ~ 1057 100.00 | =hst | 6.00 ~ 2811| 2.99 16.12
p 100kN/m#E#Z5| 100|000 ~ 237 137.07 |3m&E#ZB| — ~ — — — | 100kN/m%E#Z% | 1.00 | 1058 ~ 2122 137.07 |3mE#Bz% - ~ — — -
ZhLst 1.00 | 287 ~ 1016 100.00 | =05t | 0.00 ~ 1016 2.65 13.38 znLst 1.00 | 6.00 ~ 1058 100.00 | #nst | .00 ~ 21.22| 2.65 13.38
. 100kN/m%#825 | 1.00 | 000 ~ 1.84 128.34 |3mZi#BASH| — ~ — — — | 100kN/m%E#Z25 | 1.00 | 1053 ~ 1719 12834 |3m%x#Bz% - ~ — — —
ThLlst 100|184 ~ 963\ 100.00| This | 000 ~ 963|238 12.01 TnLst 100 5600 ~ 1053 100.00| ThLS | 500 ~ 17.19| 2.538 12.01
P 100kN/MZ#2 2 % — — ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — -~ — —|3m%EiEZ S - ~ — — —
st 1.00 1 000 ~ 7.76 99.68 | TnLS | 000 ~ 7.76| 2.04 10.33 FhLst 1.00 | 6.00 ~ 1098 99.68 | =N | 5,00 ~ 1098 2.04 10.33
9 100kN/M%#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — -~ — —|3m%iEZ S - ~ — — —
ThLlst 1.00 | 000 ~ 7.74 99.30 | Thst | 000 ~ 7.74| 2.24 11.34 TnLst 1.00 | 5.00 ~ 1047 99.30 | WS | .00 ~ 1047 2.24 11.34
10 100kN/m%#82% | 1.00| 000 ~ 208| 13219 |3mzx8Bz25| — ~ — — — | 100kN/m%E#Z25 | 1.00 | 10.74 ~ 2000 13219 |3mE##Bz23 - ~ — — —
ThLlst 1.00 | 208 ~ 9.86 100.00 | =nhst | 0.00 ~ 9.86| 2.69 13.09 Fhst 1.00 | 6.00 ~ 10.74 100.00 | #hst | 5.00 ~ 2000 2.569 13.09
11 100kN/m%#Bz25 | 1.00| 000 ~ 2.77| 14367 |3mEB2E| — ~ — — — | 100kN/m%E#Z25 | 1.00 | 11.03 ~ 3299 143.67 |3m%x#BZ3 - ~ — — —
st 1.00 | 277 ~ 1055 100.00 | FThs | 000 ~ 1055 2.95 14.93 Fhst 1.00 | 6.00 ~ 1103 100.00 | TR | 65,00 ~ 3299| 2.956 14.93
12 100kN/mM%#825 | 1.00 | 000 ~ 331 153.03 |3mZ#BZB| 000 ~ 1.97| 3.85 19.45 | 100kN/m%#B25 | 1.00 | 1079 ~ 6472 153.03 |3m&E#BZB| 3000 ~ 64.72| 3.85 19.45
FhLst 1.00 | 331 ~ 1109 100.00 | Thst | 1.97 ~ 11.09] 3.00 15.16 Fhst 1.00 | 6.00 ~ 1079 100.00 | TR | 65,00 ~ 30.00]| 3.00 15.16
13 100kN/mM%EBZ5 | 1.00 | 000 ~ 310| 14946 |3mEEBZD| 000 ~ 1.88| 3.79 19.15 | 100kN/m%#Bz5 | 1.00 | 1099 ~ 6683 | 149.46 |3m&E#BZB| 20.00 ~ 6683| 3.79 19.15
FhLst 1.00 | 310 ~ 1089 100.00 | Ths | 1.88 ~ 1089] 3.00 15.16 Zhst 1.00 | 6.00 ~ 1099 100.00 | TR | 65,00 ~ 40.00| 3.00 15.16
14 100kN/mMZ#825 | 1.00 | 000 ~ 331 153,04 |3mZE#BZB| 000 ~ 1.98)| 3.85 19.48 | 100kN/m%#Bz5 | 1.00 | 10.77 ~ 5646 | 153.04 |3m&E#BZB| 30.00 ~ 5646| 3.85 19.48
ThLlst 100|331 ~ 19| 100.00| TS | 1.98 ~ 1109] 3.00 15.16 znLst 1.00 | 5.00 ~ 1077 100.00| ThUs | 6,00 ~ 3000| 3.00 15.16
100kN/m%Z#825 | 1.00 | 000 ~ 233\ 13627 |3m&x8Bz25| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 11.77 ~ 34.02| 136.27 |3mE#Bz2% - ~ — — —
% st 1.00 | 233 ~ 1011 100.00 | =nst | 0.00 ~ 1011)| 2.86 14.45 TnLst 1.00 | 6.00 ~ 1177 100.00 | =hst | 5.00 ~ 3402| 2.86 14.45
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&5 X 4 ,z,s ‘Fm;ﬁ(z)@ﬁﬁﬁﬁ jj(g')icf)é X 4 Tmﬁé@fﬁiﬁ r(:.—r,j %gfﬁé X 4 .(Er:c; J:m;b(z)())tt.s; jj(ﬁ?tr:ié X 4 J:mm(z)o)tt.s; .z.na; Jj(ﬁ?tr:f)é
16 100kN/m%#8z5 | 1.00 | 000 ~ 1.93| 129.77 |3m&E#8z3| — ~ — — — | 100kN/m%#z25 | 1.00 | 1054 ~ 1755 129.77 |3mE#z3 - ~ — — —
st 1.00 | 193 ~ 972 100.00 | =nst | 0.00 ~ 9.72| 2.40 1215 st 1.00 | 5.00 ~ 1054 100.00 | =hst | 6.00 ~ 1755| 2.40 12.15
17 100kN/m%#8z5 | 1.00 | 000 ~ 1.23| 11860 |3m&E#Bz5| — ~ — — — | 100kN/m%E#8Z% | 1.00 | 1054 ~ 1448 11860 |3mE#BZ% - ~ — — —
zhLst 1.00 | 123 ~ 902 100.00 | =hist | 000 ~ 902|217 10.96 znLst 1.00 | 5.00 ~ 1054 100.00 | =nst | 6.00 ~ 1448 2,17 10.96
18 100kN/m%E#8z5 | 1.00 | 000 ~ 1.26| 119.04 |3mE#Bz5| — ~ — — — | 100kN/mM%#B=2% | 1.00 | 1053 ~ 1455| 119.04 |3m%E#BZ5 - ~ — — —
st 1.00 | 1.26 ~ 9.04 100.00 | =nstr | 0.00 ~ 9.04 | 2.18 11.02 st 1.00 | 5.00 ~ 1053 100.00 | =hst | 6.00 ~ 1455| 2.18 11.02
19 100kN/m%E#8z5 | 1.00 | 000 ~ 1.29| 119.52 |3mE#Bz5| — ~ — — — | 100kN/ %825 | 1.00 | 1053 ~ 14.65| 119.52 |3m&E#BZ5 - ~ — — —
st 1.00 | 129 ~ 9.07 100.00 | =nst | 0.00 ~ 9.07| 2.19 11.07 Thst 1.00 | 5.00 ~ 1053 100.00 | =hst | 6.00 ~ 1465| 2.19 11.07
2 100kN/m#z#Z5| 100|000 ~ 062 109.21 |3m&E#BZB| — ~ — — — | 100kN/m%#z25 | 1.00 | 1094 ~ 1270 109.21 |3m%E#¥Z3 - ~ — — —
Lt 1.00 | 062 ~ 840 100.00 | =nhst | 0.00 ~ 840 | 2.34 11.81 st 1.00 | 5.00 ~ 1094 100.00 | =hst | 6.00 ~ 1270| 2.54 11.81
21 100kN/m%E#8z5 | 1.00 | 000 ~ 095 114.26 |3mE#Bz5| — ~ — — — | 100kN/mM%#B=25 | 1.00 | 1243 ~ 1576 114.26 |3m%E#Z5 - ~ — — —
ZhLst 1.00 | 095 ~ 874 100.00 | #hst | 000 ~ 874|273 13.81 st 1.00 | 5.00 ~ 1243 100.00 | #ns | .00 ~ 1576 2.73 13.81
29 100kN/m%#8z2% | 1.00| 000 ~ 1.10| 116.61 |3mEB2B| — ~ — — — | 100kN/m%#8=2% | 1.00 | 1264 ~ 16.71 116.61 |3mZiBZ5 - ~ — — —
ThLlst 100|110 ~ 889 | 100.00| FhLs | 000 ~ 889|2.75 13.91 TnLst 100 56,00 ~ 1264 100.00| ThLS | 500 ~ 1671 2.75 13.91
23 100kN/mM%#825 | 1.00 | 000 ~ 0.51 107.63 |3mZi#BASH| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 11.99 ~ 1359 107.63 |3mE#Bz2% - ~ — — —
ThLlst 100|051 ~ 830 100.00| FhLst | 000 ~ 830 2.47 12.51 TnLst 100|500 ~ 11.99| 100.00 | ZhLS | 5,00 ~ 1359\ 2.47 12.51
24 100kN/M%#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3m%E{BZ S - ~ — — —
ThLlst 1.00 | 000 ~ 729 92.91 | Ths | 000 ~ 729|251 12.68 TnLst 1.00 | 5.00 ~ 1097 9291 | S | 5,00 ~ 1097 2.51 12.68
25 100kN/ MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3m%EHBZ B - ~ — — —
ThLlst 1.00 | 000 ~ 7.73 99.17 | #hs |0oo ~ 7.73| 2.29 11.57 TnLst 1.00 | 56.00 ~ 1058 99.17 | hS | 5.00 ~ 1058| 2.29 11.57
2% 100kN/ MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3m%E{BA B - ~ — — —
zhLlst 1.00 | 000 ~ 720 91.66 | Ths | 000 ~ 720\ 2.50 12.65 ZnLst 1.00 | 500 ~ 1068 91.66 | RS | 5,00 ~ 1068 2.50 12.65
27 100kN/MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3mE{BZB - ~ — — —
FhLst 1.00 1 0.00 ~ 3.01 3876 | TnLS | 000 ~ 301|239 12.06 Fhst 1.00 | 6.00 ~ 5648 3876 | TN | 500 ~ 65.48| 2.39 12.06
100kN/ MZ#2Z % ~ 3mEHBRD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
Thsn ~ Thsn ~ ZznLst ~ ZznLst ~
100kN/ MZ#2Z % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
ThLlst ~ Thilst ~ znLst ~ ZznLst ~
100kN/ MZ#2Z % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ zhsn ~ ZznLst ~ ZnLst ~




